
Nome: 　　　　　　　 Data: 　　　　　　 Punteggio: 　　　

Moltiplica i decimali per potenze negative di dieci

6896, 9 × 0.001 = ________ 9416, 3 × 0.1 = ________

4707 × 0.01 = ________ 2393 × 0.001 = ________

4546, 3 × 0.1 = ________ 7562, 4 × 0.01 = ________

4577, 8 × 0.01 = ________ 9843, 1 × 0.001 = ________

2275, 5 × 0.001 = ________ 5049, 1 × 0.1 = ________

2052, 7 × 0.0001 = ________ 3910, 9 × 0.1 = ________

8094, 8 × 0.01 = ________ 3042, 6 × 0.01 = ________

8477 × 0.0001 = ________ 8947, 3 × 0.001 = ________

8967, 1 × 0.1 = ________ 3284, 9 × 0.0001 = ________

4470 × 0.001 = ________ 7856, 6 × 0.01 = ________
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Nome: 　　　　　　　 Data: 　　　　　　 Punteggio: 　　　

Moltiplica i decimali per potenze negative di dieci

6896, 9 × 0.001 = 6.8969 9416, 3 × 0.1 = 941.63

4707 × 0.01 = 47.07 2393 × 0.001 = 2.393

4546, 3 × 0.1 = 454.63 7562, 4 × 0.01 = 75.624

4577, 8 × 0.01 = 45.778 9843, 1 × 0.001 = 9.8431

2275, 5 × 0.001 = 2.2755 5049, 1 × 0.1 = 504.91

2052, 7 × 0.0001 = 0.20527 3910, 9 × 0.1 = 391.09

8094, 8 × 0.01 = 80.948 3042, 6 × 0.01 = 30.426

8477 × 0.0001 = 0.8477 8947, 3 × 0.001 = 8.9473

8967, 1 × 0.1 = 896.71 3284, 9 × 0.0001 = 0.32849

4470 × 0.001 = 4.47 7856, 6 × 0.01 = 78.566
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